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e (202001) > VF>F CK

HieE11 12 162.5 24 150 12 162.5 24 1.50 160 168 0.0

Hi=F12 12 320.3 5.0 156 12 320.3 50 1.56 313 329 0.0
A (202003) ZHh 7 r>b CK

Hib=11 3 162.3 2.1 1.28 3 162.3 21 1.28 160 164 0.0

Hie=12 3 318.7 2.1 0.65 3 318.7 21 0.65 317 321 0.0
A (321002) 7L 2 X —pY > 2L T FFF—E(N) CKI

Hie=11 1 168.0 1 168.0 168 168 0.0

Hie=12 1 320.0 1 320.0 320 320 0.0
A (326001) 7F=7XF—h CK JS

Hib=211 1 169.0 1 169.0 169 169 0.0

Hie=z12 1 333.0 1 333.0 333 333 0.0
A (326003) =" FXF—F CK

Hie=11 7 165.6 25 1.51 7 165.6 25 1.51 162 168 0.0

Hie=12 7 3241 6.0 1.86 7 3241 6.0 1.86 313 329 0.0
AAH (363002) E°= 74 —hrS CK-L

HieE11 1 165.0 1 165.0 165 165 0.0

Hi=EF12 1 326.0 1 326.0 326 326 0.0
AFE (465001) A B0 HAHE 0 CK-JS

Hib=11 1 157.0 1 157.0 157 157 0.0

Hie=z12 1 316.0 1 316.0 316 316 0.0
A (524001) N—7>t1 CPK—L —=wh—i—

Hie=11 2 165.0 1.4 0.86 2 165.0 14 0.86 164 166 0.0

Hie=z12 2 3245 2.1 0.65 2 3245 2.1 0.65 323 326 0.0
A (524002) N—7>t+1 [ CPK—S =vh—i—

Hi=211 8 164.0 30 1.81 8 164.0 30 1.81 158 168 0.0

Hie=12 8 323.0 7.4 2.28 8 323.0 7.4 2.28 308 333 0.0
A (722001) 7 7FELQ CKL—K I

Hib=11 1 160.0 1 160.0 160 160 0 00

Fie=z12 1 316.0 1 316.0 316 316 0.0
AFE (963001) L& 777=2— CK

HieE11 11 163.6 2.7 167 11 163.6 2.7 1.67 160 169 0.0

Hi=F12 11 321.8 37 1.14 11 321.8 37 1.14 316 328 0.0
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